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aaPd e AT 2T e |
AT IATET feera ©RIF B 7309 303/

1. Answer any ten questions from the following: 2x10=20
A @ @ PIT desT Ted T ¢
(a) What is Treasury Bills?
Guifs e Fie
(b) What is the main difference between investment and gambling?
RFGS @R TR TG dai Ay e
(c) Give two examples of real assets for investment.
RfFcatscaer 4o aFe e Suiggdl e |
(d) What is debenture?
Srasem e

(e) Define risk of a security.

a3 FifeeRbe s et s

(f) How do we calculate return of an investment?
el wEl @ [T s sem s
(g) What is stock market index?
T AT 5T 2
(h) What is the main difference between primary market and secondary market?

AT I ¢ FFS IATET A 24 NdE e

(i) Mention any two types of bonds.
@ @I o 2P q0eq S I
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CP-VI/DSE-3(6.3.1/6.3.2)/(N&0)/24 (2)

G) What is financial derivatives?
i (eRveber Me
(k) Name any two stock exchanges in India.
©IRTST @ (P 4 B e AW Sard I
(1) What is systematic risk?
Pt (Iwere) IR e
(m) Name two main approaches of equity analysis for investment.
Rifwon @ 2936 Remem b 79 s Swe w0
(n) Who is the stock market regulator in India?

SIS R I R 0

(o) What is real rate of return?
et ave 2w e

2. Answer any four questions from the following : 5%4=20
AT F I T 2towm Tag e 3

(a) Write a short note on technical analysis.
TS Rorets ot s icfiee Bt el |

(b) Differentiate between capital market and money market.
T @ W Arwrcam W s wE)

(¢) What is bond yield? How is it related to the market rate of interest? 243
wwa?aﬁ%mmmmm?

(d) Briefly state different types of investments in Indian context.
ST E@RAD Rfen s RREIoR wRrd R we |

(e) Write a short note o ‘Securities and Exchange Board of India’.
ﬁmﬁﬁwmgmwm’wﬁﬁﬁﬂmﬁWMI

(f) Consider a Rs. 1009 par value bond carrying a coupon rate of 9% and maturing after

8 years. The bond s Currently selling at Rs. 800. Calculate YTM of the bond using
approximation methog,

(e ot w3y)




(3) CP-VIDSE-3(6.3.1/6.3.2)/(N& 0)/24

" 3. Answer any two questions from the following: 1052=20
A®A T I 7/ AT Te wie 2
(a) Describe the key financial ratios used in fundamental analysis of a company.,
G5 @i (R R I9ge T wiile sReArest 3@ )
(b) State the importance of investors’ protection. Briefly explain investors’ grievance redressal
mechanism at SEBI. 4+6

RF@IeRINTE THR oy T I3 SEBI-© RiNasefion sRgms R «5f
FALCEC JIY _AT

(c) What is investment? Briefly, discuss different investment options available to an investor.
248

Rics [ oo RN o0 S [Ridn R R T siemeot wieioat
AL

(d) () The expected dividend per share of Bedanta Ltd. is Rs. 20. The dividend is expected
to grow at a rate of 8% per year. If the price per share now is Rs. 200, what is the
expected rate of return?

(R o w8)
(i) How do we calculate risk of an n-security portfolio?

oAt eI G G7-FRERRG ifbreiies R st e
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Time: 3 Hours Full Marks: 60

The figures in the margin indicate full marks.

Candidates are required 1o give their answers in their own words
as far as applicable.

Rl & e e
ARV 75 Ficersr ST BaT e 2T

L. Answer any ten questions from the following: 2x10=20
oI @ I PG el Teq e g

(a) Define financial assets with examples.

SRR SR ot gy e |

(b) How many stocks are included in Nifty?
Nifty-(> Toaf 5% W JER?

(c) What is the main function of NSDL?
NSDL-93 24 i Sty

(d) Write any two reliabje sources of financial information.

%W@m‘iﬁﬁmmﬁm @Al |

(e) What is Zero-coupon bopd9
oot 3@ o

(f) What is YTM of a bond?
@ T Y™ §,

(g) How a debenture jg differem

T%Nm%lmaﬁ:m

from a fixed deposit?
Gie S fom e

(i) Name any two Promineng

23

- chart patterns of technical analysis.
"m“‘qﬁ@m@ﬁﬁ%mﬁme@N|



(5) CP-VI/DSE-3(6.3.1/6.3.2)/(N&0)/24
(j) Name any two indicators used for economic analysis.
Siafer RETER &0 WW@T@@W?{WMI
(k) What is the relation between diVerSiﬁcati on and risk?
IFIAFRT QR YRR TG AAE g,
() How inflation is adjusted in the Calculation of returns?
SRR ST TERS PSR gy gy 9
(m) What does beta of a portfolio indicate?
a3f5 colfSTIfren BBt B AoM g,
(n) What is call option?
T oI e
(o) Who does protect the investors’ intereg; in India?

oiRte RFESFRGE L & I g,

2. Answer any four questions from the fOHOWing . 5%4=20

RNeo= & e I et Te wis
(a) Differentiate between primary market apg secondary market.

AT AT 8 EFOI UG Ty sy |

(b) Write short note on E-I-C model of fypdamental analysis.
chfere ResTeim E-I-C ot 99 of} wiefing Bt <redt |
(c) Write a short note on swap contract,
EImiet BET Bom @36 PR Tt ey
(d) Compare book value, market value and intrinsic value of a share.
P! CAICRS IR U, A T Gk wgRs JEvd G |
(e) How do we use P/E ratio for investment decision?
RfFccs Faitss & W=l FeiT P/E sqpie 327 3792

(f) The earnings of Dinesh Engineering Limited is expected to grow at the rate of 6% per
annum which will remain constant in future. The current dividend is Rs. 10 per share.
Calculate the fair market value of the share if the required rate of return is 14%.

@R o 789)



CP-VI/DSE-3(6.3.1/6.3.2)/((N&O)/24 (6)
3. Answer any two questions from the following : 10x2=20
N2 @ e 75 v Tex e ¢
(a) Discuss various participants of Indian securities market.

(b) Define financial derivatives. Discuss different types of financial derivatives.
Financial derivatives-43 kel e | Rf¥w 4072 Financial derivatives S¥0% St a1 |

(c) What is investors’ protection? Discuss the role of SEBI in investors’ protection in India.
Rivieion szt §2 srwe R sm SEBI-GT gRat St @1

(d) The following information is available:

Stock A Stock B
Expected return 16% 12%
Standard Deviation 15% 8%
Coefficient of correlation 0-60

(i) What is the covariance between stock A and B?
(ii) What is the expected return and risk of the portfolio in which A and B have weights
of 0-6 and 0-4 respectively?

(X o =8)
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Subject : Taxation-II
Course : DSE-3 (6:3:2 CG)
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Candidates are required to give their answers in their own words
as far as practicable.

T3 NGZ RS T o
AN IS e oI Bex fie 29

1. Answer any ten of the following questions: 2%x10=20
oA @ e ™IE et Tex we

(a) State the conditions which are to be satisfied when clubbing is applicable in case of
income arising from assets transferred to son’s wife. ‘

IR VEES it esiy oy, i ww Reww Ity 28w *$of @l

(b) When does the income of a property transferred to spouse become taxable in the hands
of the assessee?

T GIE FN/AE WeRe T s FiT are wim Reww sy e

(c) When is the remuneration of the spouse clubbed with the income of an individual
taxpayer?
N T Foy P& IO WET MY ©F N/ Al 7 =

(d) What is the principle of adjustment of speculation loss?

FoF! FAANET Hfog Awaeaa A’ e

(e) State whether long-term capital loss can be adjusted against short-term capital gain.
A e G TR e wie @3 S e S R JeE

(f) What is inter-head adjustment of losses?
T TG-S TAFY e

(g) Is there any relationship between the carry forward of losses and filing of return of
income? N
oY ALAAREFICIT AN Sz RO &t Fa ATt T4F S R

(h) Mention any four funds as don;itions which are fully deductible.
Frlfelrd WOy siafe nitia wxRkeew W1 I



CP-VI/DSE-3(6.3.1/6.3.2)/(N&O)/24 (8)

(i) What is the maximum amount of deduction an individual assessee can claim for paying
medical insurance premlum u/s 80D considering all possible situations?

awm%ﬁmwﬁﬁswﬁm%mwmfwwmwcmw .
W TG =R TG AR Rezowt w31 =we :

() What are the rates of surcharge in case of an individual assessee?

e JERTT For crea ApIE 37 T
(k) Mention any four indirect taxes which have not been subsumed in GST.

DI AGIF T A Brerd et ol A1 @ ARTHRI T W0y Y =R |
(1) State the cases where ‘zero rated tax’ is charged under GST.
@I (R 7T A A @ AR 39 AR 7 2w Gl SE vt
(m) State any two features of the indirect tax.
AT T B WG B
(n) Define the term ‘taxable persop’.
Ay If&°7 e we

(o) What do you mean by input tax credit?
T 79 T e D Qe

2. Answer any four of the followmg questions: 5%x4=20
Mo @ @I S AT Bam s o
(a) ;V(I)ZZS;;II has made the following payments and investments during the previous year
(i) Contribution to RPF ¥ 22 gqp.
(ii) Contribution to PPF ¥ 12,000.

(iid) ;’igf)igglgam Premium on his own life (sum assured ¥ 1,00,000, taken on 01.04.2021)

(v) Life insurance premium on the i i t on him (policy value
Z 50,000) ¥ 8,000 e life of married son not dependent on (policy

v) ;iiez ig(s)t(n)rance Premium on the life of the married son’s wife (policy value ¥ 1,00,000)

(vi) Purchase of NSC (VIII) ¥ 1 5,000.

(vii) Contribution to ULIP ¥ 10,000,
(viif) NSC interest accrued ¥ 5200 including the interest of the 6th year ¥ 1,200.
(ix) Purchase of NABARD infrastructure bond ¥ 22,000.

Compute the deduction available u/s 80C to Mr. Sunil for the A.Y. 2023-24.

Rl o w8) g

(b) Explain the provisions of gec, 80DD for deduction in respect of maintenance including
medical treatment of handicapped dependent.

80DD ¥R R Fsafer iy PRIGPR SRR & BT TREFEE Rywef
S IR |



() CP-vIDSE-3(6.3.1/63.2/N&0)/24
(c) Discuss the provisions regarding Clubbing of income of minor il
Wﬂwawquwmmﬁw ) :
. jee, a resident indivi o o
@ hl\:Isr if‘;‘:ﬁ fora tl:e lf ?;022_23:@’ has fumished the following information regarding
(i) Loss from Garments Business ¥ 145,000,
(ii) Income from Grocery business 3 95,000,
(iii) Income from other sources ¥ 15,000,
(iv) Short-term capital loss ¥ 25,000,
(v) Long-term capital gain ¥ 75,00,
(vi) Loss from house property X 35,000,
Compute the amount of income and losses 14 be carried forward to the next year.

ezt o wg)

() What do you mean by GST? State in brief j1 objectives. 243
A & AR T 0 B G 7wt a0 Bpepey frge |

(f) Write a short note on ‘Goods and Services Tax Network’.

‘oA @ AR T (D47 Bol xefpes B et

3. Answer any two of the following questions; 10x2=20 -

N @ @ 77 dvaT TR me 8
(a) Discuss in detail the provisions of the Income Tax Act, 1961 regarding carry forward and
set-off of business losses.

1961 AT SIS G IR wog RERC fm
il Wewﬁaﬁwﬁ? IR

(b) Sri Nemai Chakraborty (age 50 years) a resident individual, furnished the following details
of his income during the previous year 2022-23.

(i) Gross salary ¥ 9,52,400 (professional tax paid T 2,400).
(ii) Income from business owned by him ¥ 2,00,000 and allowable expenses ¥ 1,30,000.
(iii) Winning from lottery (net after TDS-@ 30%) ¥ 35,000. ‘
(iv) Long-term capital gain on sale of building ¥ 75,000 (applicable tax rate 20%).
(v) He deposited ¥ 1,20,000 to PPF during the P.Y.
(vi) He donated to National Defence Fund ¥ 25,000.
(vii) Repayment of house building loan from Axis Bank Z 2,30,000 of which ¥ 50,000
is for principal repayment.
(viii) He paid ¥ 28,000 as health insurance premium of his own health.
Compute his total income and tax payable for the A.Y. 2023-24. Assume that Mr. Chakraborty
has not opted for the provisions of sec. 115BAC.

(3 2t w8)



CP-VI/DSE-3(6.3.1/6.3.2)/(N&0)/24 (10)

i

(c) Mr. X aged 46 years, has made the following payments and investments during the year
2022-23:
(i) Premium paid to LIC to insure the life of his major daughter (policy taken on
01.04.2020) (assured value ¥ 2,00,000) ¥ 30,000.
(ii) Medical insurance premium for self ¥ 14,000 and spouse X 16,000.
(iii) Donation to public charitable institution registered under section 80G X 40,000 by
way of cheque.
(iv) Donation to PM CARES Fund ¥ 15,000 by way of cheque.
(v) Donation to National Children’s Fund ¥ 30,000 by way of cheque.
(vi) Donation to Jawaharlal Nehru Memorial Fund ¥ 25,000 by way of cheque.
(vii) Donation to approved institution for promoting family planning ¥ 45,000 by way of
cheque.
(viii) Deposit in PPF ¥ 1,00,000.
(ix) Repayment of house building loan from SBI ¥ 40,000.
Compute the total income of Mr. X for the assessment year 2023-24, if his gross total

income of ¥ 9,05,000 comprising of income from salary and house property. Assume
that Mr. X has not opted for the provisions of sec. 115BAC.

=R o9 98y)
(d) Mention the different types of GST in India. State the various rates of GST. 545

ore Rfen @R sy ¢ AR sl Tur I@ A0 ¢ AR 7w Ritn 91 Rye
TR
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as far as practicable.

| i 2T WY TN e -
g AP IS e O GeF e =3/

1. Answer any ten from the following questions: 2%10=20
Nw3 @ e IF o Ted wis ¢

[ (a) What do you mean by Non-taxable supply?

| GBI HAIAR IS F QAR 2

(b) Define the term “India” as per GST Act.
GST SRS S “India” FAB vigest we |

(c) What do you mean by the term Dual GST?
e GST e i Q@I?

(d) Explain in brief the chargeability of GST on Tobacco Products and Newspaper
Advertisement.

SFEIS T 3R I 19T R4 B9 GST Sfderg FIISTS! FLCH A1YT 6t |
(e) Who is the recipient in the following cases?
(i) A sells a watch to B for ¥ 2,000
(ii) C sells a mobile phone to D without consideration,
(& ot w83y)
(f) Define the term “Services” as per section 2(102) of the CGST Act.
CGST WG 2(102) 41 SRR R kel e |
(2) Mr. A buys food articles on board while travelling from Kolkata to Delhi by air.
Airline is registered in Maharashtra.
What is the place of supply?
(Zxafe 2t w8)
(h) What do you mean by voluntary registration?
TR SRR e F Q@I
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(i) What will be the time of supply between the following dates?
(i) Date of sale of goods 01.01.2023
(ii) Date of issuing invoice 15.01.2023
R a2t 78)
() What will be the place of supply when goods are delivered to a third party as per
instruction of the buyer?

ot oo #f o IfeTe (M e AR T TI?
(k) Explain in brief the provisions of CGST Act in relation to incidental expenses of supply.
CGST Si¥CT FA<HIRA e Sr@ie 356 T Ruivef Aewe aia 3@ |
(1) What will be the place of supply if supply does not involve movement of goods?
M TR CFGT ACA BoAI6 1 T GG TR A | 72
(m) Give two examples of related person.

TP fEq 46 Sz we )

(n) Explain the chargeability of GST on the Alcoholic Liquor for Human Consumption and
Industrial use.

R (I &Y 9% PR <RI o Soid Bow GST SiRa SIS TGt I |
(o) Mention one important function of GSTN.
GSTN-93 &30 ewwsyf e B et

2. Answer any four from the following questions: 5%4=20
AT @ I S AR e s ¢

(a) Give the definition of “Business” as per section 2(17) of the CGST Act.
CGST G 2(17) 4131 SRR “Business™4d Je@ e |

(b) Explain in brief the term “Consideration” as per section 2(31) of the CGST Act.
CGST WREH 2(31) 413t S “Consideration” 31 afenina wiFee Iyt WS |

(c) Explain the terms (i) Apportionment of credit (ii) Blocked credit
Apportionment of credit €% Blocked credit Faf 0t TG |

(@) EXPI:Iin the provisions of CGST Act in relation to subsidies and discount provided with
Supply

WWWQ«WWCGSTWﬁw%wml
(e) Write a short note on ‘Reversa] of Input Tax credit.’

TRerfier o ¥ 5118 R5" a3 Bt e Bt coreat |

() Define the term “Person” ag Per section 2(84) of the CGST Act.
CGST w19 2(84) 4t SRR TRew weet e |



(13) CP-VI/DSE-3( 6.3.1/6.3.2)/(N&0)/24

3. Answer any two from the following questions: 10x2=20
NEA & e 75 2esa T wie s

| (a) Explain in details the terms ‘Aggregate Turnover’ and ‘Casual Taxable Persons.’
; e REFT @R oM Ty TSNz Rew gt s
(b) State the detailed procedures for registration in case of regular resident tax payers.
i Fafte i smeior Resme 45 Rim 36 @
| (c) Write short notes on the following: 545
fafiRe Rewm S iKfrg Bt @it ¢

(i) Utilisation of Input Tax Credit

(ii)) Input Tax Credit on Capital Goods and Imports

afer o 78)

(d) Write short notes on:
e Bt TR ¢
(i) Anti-Dumping Duties
ifS-wifi fTeH
(ii) Types of Customs duty
Customs duty-99 2JIACSV




